
5x  3y3y240x  5220x2  1
9 y240x2  x  424220

3a3ax  4239x  1010219a2  36b36b36b239x2  7x7x  619

ba  ba  b38x  821816x16x16x2  25y25y25y238x2  2x2x  636318

ax  7x  537x  42179a9a2  137x2  2x2x  817

ax  yx  y36x  2216x2  xyxy  12y12y12y236x2  9x9x  202016

b  ab  a35x  2x  121215x2  6xy6xy6xy  5y5y235x2  7x7x  121215

 12 a  1
3 b 12 a  1

3 b34x  3x  2141
4 x2  2xy2xy2xy  4y4y234x2  x  565614

x  1
4 yx  1

4 y33x  9x  613x2  1
2 x  1

1616
33x2  2x2x  353513

2a2a  52a2a  532x  8x  71225x25x25x2  10xy10xy10xy10xy  y232x2  12x12x12x  272712

4x4x  3y3y4x4x  3y3y31x  5x  411x2  6xy6xy6xy  9y9y231x2  14x14x14x  484811

x  1
3 

230x  4x  710100100100  b230x2  5x5x  141410

x  1
2 y229x  3x  59a2  646429x2  11x11x11x  30309

3xy3xy3xy  2228x  8x  28x2  252528x2  4x4x  21218

4x4x  5227x  7x  57a2  427x2  x  20207

2x2x  3226x  3x  46x2  y226x2  8x8x  15156

7  b7  b255xy5xy5xy7x7x  5y5y  15x2  18x18x18x  81812528a28a28a2x  20ax20ax20ax20ax2  4ax4ax4ax5

a  5a  5243m3m2a2a  3b3b  4c4c4x2  14x14x14x  4949243xz3xz3xz  6yz6yz6yz  9z9z24

x  9x  9238b8b3a3a2  b3x2  12x12x12x  36362315x15x15x2y  12xy12xy12xy12xy23

a  6a  622x7x7x  y2x2  6x6x  9223a3a2  7ab7ab7ab2

x  yx  y21ab  c1x2  2x2x  121amam  bmbm1

因数分解せよ展開せよ

ドリルプリント　３年生「式の計算（展開・因数分解）」　NO.1　～解答～

8x8x2  6xy6xy6xy  5y5y21212x12x12x  72726

x2  27y27y27y21118185

10x10x10x  7474106x6x  34344

3x3x  31319x  23233

212182x2x  11112

8x8x  767672x2x2  11

次の式を簡単にせよ



3a3ax  3x  540x  1010220x2  1
1616 y240x2  3x3x  545420

2a2ax  5239x  9219a2  49b49b49b239x2  4x4x  319

aa  ba  b38x  721881x81x81x2  16y16y16y238x2  4x4x  454518

ax  4x  737x  321725a25a25a2  137x2  x  617

xa  ba  b36x  1216x2  2xy2xy2xy  15y15y15y236x2  12x12x12x  272716

y  xy  x35x  3x  121215x2  5xy5xy5xy  6y6y235x2  9x9x  202015

 14 a  1
3 b 14 a  1

3 b34x  6x  1141
9 x2  4

3 xyxy  4y4y234x2  2x2x  484814

x  1
5 yx  1

5 y33x  9x  313x2  x  1
4

33x2  4x4x  513

7a7a  37a7a  332x  8x  91249x49x49x2  14xy14xy14xy14xy  y232x2  13x13x13x  363612

6x6x  3y3y6x6x  3y3y31x  6x  411x2  6xy6xy6xy  9y9y231x2  15x15x15x  565611

x  1
5 

230x  9x  7108181  x230x2  3x3x  101010

x  1
2 y229x  2x  59a2  646429x2  12x12x12x  35359

4xy4xy4xy  3228x  3x  28x2  252528x2  2x2x  88

5x5x  2227x  7x  27a2  927x2  2x2x  15157

3x3x  1226x  3x  66a2  b226x2  5x5x  66

7  x7  x253xy3xy3xy9x9x  5y5y  25x2  16x16x16x  64642535a35a35a2x  15ax15ax15ax15ax2  10ax10ax10ax10ax5

a  6a  6242c2c2x2x  3y3y  z4x2  12x12x12x  3636246cx6cx6cx  2cy2cy2cy  4cz4cz4cz4

x  1010x  1010235b5b4a4a2  b3x2  10x10x10x  25252342a42a42a2b  7ab7ab7ab23

a  4a  422x8x8x  3y3y2x2  8x8x  1616225ax5ax5ax  3bx3bx3bx2

x  yx  y21mb  c1x2  4x4x  421axax  ayay1

因数分解せよ展開せよ

ドリルプリント　３年生「式の計算（展開・因数分解）」　NO.2　～解答～

3x3x2  4xy4xy4xy  10y10y10y21214x14x14x  98986

x2  2x2x  21y21y21y21185

10x10x10x  8989105x5x  19194

4x4x  49x  32323

2x2x  121283x3x  92

7x7x  606072x2x2  91

次の式を簡単にせよ


